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Q1. What is the product of the largest four digit number and the smallest three digit number?
A. 99,900 B. 99,000
C. 999,990 D. 999,900

Correct Ans: D
Q1. IR 31 A Fa I3 FEAT AR AT 3T A FaF BIE TEAT FT YOIl FAT 82
A. 99,900 B. 99,000

C. 999,990 D. 999,900

Correct Ans: D

Q2. If 43 is subtracted from 53 and added to the square root of 144, we will get:
A. 61 B. 77

C.21 D. 73

Correct Ans: D

Q2. 3% 43 # 53 I werwr 3R 144 F oA F T AT AT T A g wTed B

A. 61 B. 77

C. 21 D. 73

Correct Ans: D

Q3. What is the value if the largest two digit prime number is subtracted from the smallest
three digit prime number?

A. 6 B. 7

C.5 D. 4

Correct Ans: D

Q3. I 3 il F T T2 HATTT TEIT FY AT 3l F TN B IHAST TEIAT A TST AT Y FIT AT YT gHPN?
A. 6 B. 7

C.5 D. 4

Correct Ans: D

Q4. \ 324/81 can also be written as

A 4 B.9
C.3 D. 2

Correct Ans: D
Q4. W.’324,»'31 F 37 YR ) frET o1 gt &:

A. 4 B.9



C.3 D. 2

Correct Ans: D

Q5. A store offered a 25% discount on a shirt costing Rs. 1500. Since Ram purchased clothing
worth Rs. 5000, he got a further discount of 1%. What was the final price that he paid for the
shirt?

A. 1113.75 B. 1110.75
C. 1125.75 D. 1075.75

Correct Ans: A

Q5. TF gF 1500 FU HiY TF FHSr W 25% T & W &1 IfF W 5000 79 F F93 W §, 39T 37 1%
wfaRea ge ot el 3o 3w Foitar & foe Rrae 3ifaer e #71 sqarare fram?

A.1113.75 B. 1110.75
C. 1125.75 D. 1075.75

Correct Ans: A

Q6. Rajesh took a loan at 9% per annum simple interest and invested in a project where he
got a return of 13%. At the end of 5 years he made a profit of Rs 15,000. What was the
original amount that he had loaned?

A. 60,000 B. 75,000
C. 90,000 D. 80,000

Correct Ans: B

Q6. IS 7 9% Ui I¥ WIUROT AT W T HOT T 3R 3wt van aRE&Terar & e fFar sie1 @ 39 13% &1
SfAsT 9Ied g3T1 5 9§ FATST g1 W, 3/ 15,000 T FT A6 AToTd M| I8 FT T F91 § S 30 FOT F &7 A
& 4i?

A. 60,000 B. 75,000

C. 90,000 D. 80,000

Correct Ans: B

Q7. Amongst a group of 700 students, 210 have opted for science, 150 have opted for arts,
while 340 have opted for commerce. If a student is randomly selected from this group, what is
the probability that this student would have opted for science?

A. 0.25 B. 0.48
C. 0.45 D. 0.30

Correct Ans: D

Q7. 700 BTl & TF @Hg # ¥, 210 & A7 A, 150 F WA Tolt, 51a HY 340 F FiAw gol| AR @ HwEF A A
SIS § TFH BTH HT AT ST A I§ W11 fhaat ¢ B 30 o7 & R gt i

A. 0.25 B. 0.48
C. 0.45 D. 0.30

Correct Ans: D

Q8. What is the probability that when a coin is tossed twice successively the outcome would
be one heads and one tails?

A.1/4 B. 1/2



C.2/3 D.1

Correct Ans: B

Q8. 9 T RAFH FI AR & IR ISTAT AT dl Ig THTTAT fFa= § F o v [T 3k v ge gen?
A. 1/4 B. 1/2

C. 2/3 D.1

Correct Ans: B

Q9. A stationery shop is offering a set of stationery for Rs. 352, which is 12% discount of the
original sale price. What is the original sale price?

A. Rs. 400 B. Rs. 310

C. Rs. 375 D. Rs. 385

Correct Ans: A

Q9. TF AWAHTHIA GHT AWAATN FT TF ¥ 352 T A AT X W § I AT R 7qpa W 12% ge & a1 71
AT B 7 fawa Fea Far 82

A. 400 ¥9 B. 310 T9&

C. 375 %9 D. 385 ¥q&

Correct Ans: A

Q10. A trader deals in three types of products - apparels, cosmetics and stationery which are
in the ratio 2:4:5. If he sold a total of 110 items, how many cosmetics did he sell?

A. 20 B. 40
C. 50 D. 60

Correct Ans: B

Q10. TF TR AT YHR AT TEIIHT FT SR FAT ¢ — FI3, YAREHA AR d@arareraf, e sequra 2:4:5 ¢
IfE 98 F 110 a3t A Rt Far ¥ af 39 Fo Fraat Yamramrat arqait A fshr #2

A. 20 B. 40
C. 50 D. 60

Correct Ans: B

Q11. Find the odd-one out in the following:

Desktop, Calculator, Abacus, Laptop
A. Abacus B. Calculator
C. Laptop D. Desktop

Correct Ans: A

Q11. faw= fAf@a # ¥ RvA 71a FX:

3THM, FaFaeT, TaHH, AT
A. TSHE B. $herghelex
C. duerq D. S&helq

Correct Ans: A



Q12. Find the odd-one out in the following:

Letter, Envelope, Internet, Stamp
A. Envelope B. Stamp
C. Internet D. Letter

Correct Ans: C

Q12. far= fAf@a & ¥ R 7 X

93, fIBIPI, SeiaicE, SIFicHe
A. forwTeT B. e
C. 3T D. 93

Correct Ans: C

Q13. Choose the correct option that best expresses a relationship SIMILAR to that expressed
in the original pair:

Chalk: Duster :: Pencil: ?
A. Carbon B. Black
C. Note D. Eraser

Correct Ans: D

Q13. I s Rew A ot 7 oot # siffcasa waw & weed Haw A TIASS siffeafFa e ¥

T : ST 1 9 ?
A. FIeeT B. @Tell
C. forgar D. &3

Correct Ans: D

Q14. Choose the correct option that best expresses a relationship SIMILAR to that expressed
in the original pair:

Reliable: Dependable :: Careful: ?
A. Cautious B. Remember
C. Silly D. Careless

Correct Ans: A

Q14. 77 FaIss RAFew A It qaT 7o ¥ sffcasa @9y & Areey Gay T gaiss JffcafFa Far i

ey : sRAAT 1: WEUA : ?
A. g B. I1g @
C.qg D. STRaTg

Correct Ans: A

Q15. Find the missing term: 22,5, 20, 17.5, _, 12.5



A. 15.5 B. 15
C. 11.5 D. 10

Correct Ans: B
Q15. gﬁﬁwmﬁﬁ'ﬂ': 22.5,20,17.5, _, 12.5
A. 15.5 B. 15

C. 11.5 D. 10

Correct Ans: B

Q16. If the TOYS are called the PILLOWS, PILLOWS are called the BED SHEETS, BED SHEETS
are called the BEDS, BEDS are called the JUICES and JUICES are called the DRINKS, what does
kids play with?

A. TOYS B. BED SHEETS
C. PILLOWS D. BEDS

Correct Ans: C

Q16. Iy el it aferar war JT, afFY F AR FIT AT, TG FY TAT FT AT, T H S[H Fal 90 3R JF i
97-uery Fgr AT Y T4 fFEE @1y @oa?

A. faetar B. AleX
C. afear D. 9ofdT

Correct Ans: C

Q17. If the BIKERS are called the CYCLISTS, CYCLISTS are called the SHARKS, SHARKS are
called the DOGS, DOGS are called the CATS and CATS are called the THIEVES, who barks?

A. THIEVES B. CYCLISTS
C. CATS D. DOGS

Correct Ans: C

Q17. Ik AFF FY WITHIATT F§T AT, FBFHAEE FI AT FET AT, ATH FI Feal FeT AT, Fead H fAee FeT o€ AR
et 1 TR Fgr ST ar Hie silFan?

A. IR B. ATShiereer
C. fSeelr D. Fedr

Correct Ans: C

Q18. In a different coding system MAGNIFICENT is coded as 31749693540, how is INITIATE
coded as?

A. 94990105 B. 94909105
C. 94901905 D. 94919059

Correct Ans: B

Q18. Ifg vw A= Fe o FF MAGNIFICENT %Y 31749693540 ¥ ¥ # Feag a1 rar § af INITIATE &
¥ Feag frar smeam?

A. 94990105 B. 94909105
C. 94901905 D. 94919059



Correct Ans: B

Q19. In a different coding system ABSOLUTE is coded as NOFBYHGR, how is STABLE coded as?
A. FNGOYR B. FGNOYR
C. FGNYOR D. FGNROY

Correct Ans: B

Q19. X v A F yorrel # ABSOLUTE T NOFBYHGR & &9 # Feag fam SIrar § @ STABLE #Y #@ Feag
T STee?

A. FNGOYR B. FGNOYR
C. FGNYOR D. FGNROY

Correct Ans: B

Q20. From the four answer choices, find the missing element in the question figure to
complete the series.

Question Figure

Correct Ans: A

Q20. HEaT FT [ FIA & fAT ot iy # o IHfay F Ieo} F IR Rvedl # & AT F
YT TR




Correct Ans: A

Q21. Which of the following computer technology helps you to easily insert, retrieve, and
manage data from databases with appropriate security measures?

A. Database Management Systems B. Firewall
(DBMS)
C. Anti-virus software D. Pen-drives

Correct Ans: A

Q21. farafaf@a Hler Ht FeyeT TFTerslt IUYFT JI&T 3R F FIY SEAH { 31T FI WA § IT9H Wred, sTelar 3R
HaTer # IR HEE FA §2

A. ST At feeH (DBMS) B. ®rRETe

C. TE-aRRY AP D. U-318e8

Correct Ans: A

Q22. Which of the following constraints help uniquely identify records in a table?
A. Primary key constraint B. Foreign key constraint
C. Check constraint D. Default constraint

Correct Ans: A

Q22. @ I 1 AFeT v o # RFISH I 363 T6T TG FI # 7AGE FIAT 82

A. wTsHY Y e B. BIReT I FEee
C. I& HEe D. f3Wiee HEie

Correct Ans: A

Q23. Which of the following is an input device?
A. Keyboard B. Printer
C. CD-ROM D. Monitor
Correct Ans: A

Q23. frafaf@a i w1 Raw saqe Bamw 2

A. Fr-ar8 B. fiiex

C. CD-ROM D. #idfiey

Correct Ans: A

Q24. Which of the following is NOT a computer peripheral?
A. Motherboard B. Scanner

C. LCD projector D. Pen drive



Correct Ans: A

Q24. PFfafaa Fia a1 e Fogex Twte ¢ &2

A. ACIETS B. Tt
C. LCD waieex D. 9 3159

Correct Ans: A

Q25. is a temporary memory that loses information when the computer is

switched off.

A. Random Access Memory (RAM) B. Read Only Memory (ROM)

C. Flash memory D. Electrically Erasable Programmable Read Only Memory
(EEPROM)

Correct Ans: A

Q25. T TARY AR § N FYR B a9 T T 9 G FY Aar S B
A. 57 tHIE A8 (RAM) B. {I5 3fsTelr AFRY (ROM)
C. woler Ay D. SaFIdholl Stoigd WamAse {5 3o AARY (EEPROM)

Correct Ans: A

Q26. Bluetooth is a widely used technology for:

A. Wireless Personal Area Network B. Local Area Network (LAN)
(WPAN)
C. Metropolitan Area Network (MAN) D. Wide Area Network (WAN)

Correct Ans: A

Q26. Y $HF AT SAIF T F SEAATA g1 Tl SaFATersil 8t

A. IR 8 TRAT Acasm (WPAN) B. dlishel TRAT scash (LAN)
C. AgraforesT Thar acas (MAN) D. a18s TRAT Aecas (WAN)

Correct Ans: A

Q27. A variable in programming is a:

A. named piece of memory for storing B. procedure that performs some operation

data

C. Classification of data D. template that defines states and behaviors for creating
objects

Correct Ans: A
Q27. WA & vs ddvaer F41 §:

A. 3TeT TR ¥ & fow AN 7 arHifeg B. a8 WHoR S $& F &l §
ic:

C. STeT FT FATHIhRTT D. 98 &Fcole St 3iTeoiae ST AT el & TolU ITEATT 31N STG8R Hl
IR T &

Correct Ans: A



Q28. An object in an object oriented programming is:
A. An instance of a class B. A template that defines a collection of fields and methods
C. A built-in data type D. An array that holds a collection of similar types

Correct Ans: A

Q28. T 3fsatae MNIRT NanfA7T # 3ifeawe §:

A. T&h FITH & TS€Id B. T ¢FColT ST Hlead 3R AYSH & FolarleT d IRATNT HT &
C. U Tdee-3 3T <8y D. T W ST A% TBTH & Foldlel Sl YRUT Il &

Correct Ans: A

Q29. Protocol used for forwarding e-mail messages is:
A. Simple Mail Transfer Protocol (SMTP) B. Post Office Protocol (POP)

C. Internet Message Access Protocol D. Secure Socket Layer (SSL) Protocol
(IMAP)

Correct Ans: A

Q29. A AT F PRAS F & AT STAATT gl aATell NEFIe -

A. ¥ A THH MNelhial (SMTP) B. 9i¥e 3iiftha Weisiar (POP)

C. Seac A/ TFA Werniel (IMAP) D. AR dldhe oA (SSL) Aetnier

Correct Ans: A

Q30. is the electronic equivalent of ordinary signatures that provides authenticity
of the electronic data.

A. Digital signature B. Access control

C. Encipherment D. Plaintext

Correct Ans: A

Q30. WUROT A7) F7 AT FAGed § N sATeIeia SIeT HY THATOHAT HeAT FI0aT ¢
A. RBface fawR B. TAH dherd
C. T=HISHHE D. ColleaEe

Correct Ans: A

Q31. Which one of the following is an installer package file format that is used for installation
and uninstallation of programs in Windows operating systems?

A. MSI B. EXE

C. DMG D. IMG

Correct Ans: A

Q31. AFAfATAT Fi T 98 STeior dFaT BrEer B ¢ Y AT AR Rvew F damaAT f swerorern i
HAZEEIAU F AT gFdATer foham i1 82

A. MSI B. EXE

C. DMG D. IMG

Correct Ans: A



Q32. Which of the following software installation type requires a user intervention to make
choices and preferences?

A. Attended installation B. Unattended installation
C. Automatic installation D. Silent installation

Correct Ans: A

Q32. Prfaf@a fFe YR ¥ AiFedw sTeraes # Rffies ReeT va wog 9= F AT, ToR & srasiv 6 o 82
A. 73T STeraleRT B. 31-31¢f3s sTetoer

C. 3icriAfes sTerorere D. ASeic STeioRle

Correct Ans: A

Q33. When you are connected to the Internet, several advertisements keep popping up even

without clicking on them. This is an example of attack.
A. Adware B. Spam
C. Phishing D. Pharming

Correct Ans: A

Q33. I §cTAC ¥ FATFCS A & dF It A 3 W Ferd FFT AT 3rarers T} 313 @ &1 I8
37T T TS 3ETEI0T B

A. TSaIX B. TuH
C. fpfrer D. wIfeT

Correct Ans: A

Q34. Which one of the following is NOT a function of antivirus?

A. Detect and remove malicious code B. Protect all entry points to the computer
C. Regularly updates against new D. Perform compression and decompression of files
attacks

Correct Ans: D
Q34. FFf@d FiF a1 RFeq T-ar—RA T w1 7¢T &7
A. GS€ IS I Il oMl 3R geTalr B. &ty & Hel USY WigeH I T&T Hlal

C. U 3¢l & T@ed AT &9 & 3gqad D. BISal &1 HEreT 3R BHeaersT e
T

Correct Ans: D

Q35. An equivalent representation for the Boolean expression A' + 1 is
A A B. A
C.1 D.0

Correct Ans: C

Q35. AT TFENeT A' + 1 & & FAGed, fAwaor g:
A A B. A'
C.1 D.0



Correct Ans: C

Q36. What is the result of the Boolean expression PQ + PQR + PQRS + PQRST?
A. PQ B.PQ+RS+T
CCP+Q+R+S+T D. PQRST

Correct Ans: A
Q36. AT vFEwerT PQ + PQR + PQRS + PQRST &I qRUIeT F4T 82
A. PQ B.PQ+RS+T

CCP+Q+R+S+T D. PQRST

Correct Ans: A

Q37. Complete the sentence with the correct option.
Firewall on a computer

A. Reduces over heating of the computer B. Prevents unauthorized access to the computer

C. Allows more devices to share the D. Enables to utilize maximum Internet bandwidth
same Internet connection

Correct Ans: B

Q37. We faFew F WY Ty F [ H

T HOYET W GIIare

A. HTIET T e T T Al HICh & B. hTYEX T IR & & TFAH fhT STt T AehTH el &
C. 318 Basiay & fov e € Seteie D. 31f8sde getaie d3fasy A sTaATT R H THY T §
FAFAA Pl TR FIAT GH FoATcll &

Correct Ans: B

Q38. For more protection against unauthorized access to a computer, you can use:

A. Only one software firewall B. Two or more software firewalls
C. Only one hardware firewall D. A combination of one software firewall and a hardware
firewall

Correct Ans: D

Q38. TF FY FI INAFA F7 § ta4d T It & f@eme st gean & AT, 317 sEAAT F: 7 8

A. Hdd T TIFCAIAR BIRIRATS B. & T & & 37 ATFcdIN HRRATH

C. del Teh gSaIqT BTl D. T& AFedIX BRI 3R T gT8aIX BRIRATA HI HiFa T

Correct Ans: D

Q39. A help desk in an IT organization:
A. Does employee management B. Answers technical questions of its customers
C. Does finance management D. Administers system software

Correct Ans: B
Q39. & IT &Yl # UF gov 3EF:
A. FHIRT YT AT & B. 3T9st IATEHT & dehelleh! HaTell T STdT &l &



C. facd yaereT tar & D. fOEcH ATFcIIT FT WRATHT HIdT &

Correct Ans: B

Q40. helps IT customer support agents to receive and respond to service
requests.

A. Webware B. System software

C. Help desk software D. Anti-malware software

Correct Ans: C

Q40. wfdw Redvew ) yrod #1331 Tegoa] & & IT FICAT FUIE TSl Y TERIaT HIam
gl

A. 3§99 B. Rc# dveaax

C. §o9 3% AT D. TI-ATAAIR ATFEATR

Correct Ans: C

Q41. What file system does Windows NT or Windows Server operating systems use?
A. New Technology File System (NTFS) B. File Allocation Table (FAT)
C. File Allocation Table 32(FAT32) D. Tape file system

Correct Ans: A

Q41. = NT a1 e adv e Rven i a1 visd Rvew sTdaTT 3 82

A. 7 AT Brsel faEeH (NTFS) B. WIS Tellohele el (FAT)
C. BISd Tl caal 32(FAT32) D. ¢ WISl faFeH

Correct Ans: A

Q42. What do you mean by starvation in operating system?

A. When a thread is waiting indefinitely B. When a thread wants permission.
for some resource, but other threads are
using it.

C. When only one thread is allowed to D. None of the above.
use the resource.

Correct Ans: A
Q42. AN RAred & rerdaa #1 Fa71 374 §2

A. 3 T 93 frdlt R & fore sifafRad B. 19 Tk U3 AT AT B
FEAATT T T8 &

C. 319 el Teh I3 T REA SEAATA el 1 D. 3ueFcies H § IS 76T
3gAf B

Correct Ans: A

Q43. Which of the following tool is used to complete online transactions or mobile banking to
combat cyber fraud?

A. One-time Password (OTP) B. Automated Teller Machine (ATM)



C. SMS alerts D. Core Banking Solution (CBS)

Correct Ans: A

Q43. W YTEETSH 1 AFEAT I F AT, HeTarge o a1 A 6T F @ = & v Feafaf@a s
T g SEAAT T 1T 82

A. 3 e18H urHas (OTP) B. 3iferdifes Tor #far (ATM)
C. SMS 3t cH D. &R dfdher gegersT (CBS)

Correct Ans: A

Q44. Choose the correct procedure to add the CONFIDENTIAL watermark to your Word 2010
document.

A. Click Page Layout, in the Page B. Click Page Layout, in the Page Background group, select
Background group, select Watermark CONFIDENTIAL.

and select CONFIDENTIAL from the

gallery.

C. Click Page Layout, in the Page D. Click Insert, in the Page Background group, select Add
Background group, select Page Color and Watermark and select CONFIDENTIAL from the gallery
select CONFIDENTIAL from the gallery.

Correct Ans: A

Q44. 379+ a§ 2010 sTag#Hc # CONFIDENTIAL FT aetaT steet & fow wdt ugfa &t g

A. Page Background 39 #, Page Layout  B. Page Background 9d #, Page Layout & &eleh HIfSid,

R T FIfGA, Watermark &1 Telge CONFIDENTIAL & Jolae Shifaid|

FIfS 3T ey & CONFIDENTIAL &t daide

fiST|

C. Page Background 9 #, Page Layout  D. Page Background J9 #, Insert W f&ee RS, Add

R Faas IS, Page Color &t Telae| Watermark &t e HIford 31T st & CONFIDENTIAL & doiee
A 31T Ferdr & CONFIDENTIAL & Joae HfS|

Frfo|

Correct Ans: A

Q45. You want to create an envelope for a letter. What is the procedure to create envelopes in
Word 2010?

A. Click Mailings -> Envelopes B. Click Mailings -> Select Recipients -> Envelopes

C. Click File -> Advanced -> General -> D. Click File -> Envelopes
Envelopes

Correct Ans: A

Q45. 31T T 99 & v frweT aa&T aed &1 a8 2010 F AT a0 #F ggfa #7182

A. Mailings -> Envelopes W f&a& HIf5id B. Mailings o fFes RIS -> Recipients delee hifad ->
Envelopes

C. File -> Advanced -> General -> D. File -> Envelopes W Fa& $iforw
Envelopes W Fee Fifaw

Correct Ans: A

Q46. While saving a Word2010 document, what is the default file extension?



A. .ppt B. .xlsx
C. .txt D. .docx

Correct Ans: D

Q46. MS Word 2010 3TFJAT I ¥F I T, Bhlee g vaweerT #4182
A. .ppt B. .xlsx
C. .txt D. .docx

Correct Ans: D

Q47. You need to share the electronic copy of a legal agreement with your business partner.
Before sharing the document with the partner, you need to remove all personal information
such as author's name and cropped out image data. How can you achieve the requirement in
MS Word 2010?

A. By using the Document Inspector B. By using the Protect Document feature
feature
C. By encrypting the document D. By using the Check Accessibility feature

Correct Ans: A

Q47. HTTH! 3T FRIARY TE F /Y FTefell FIRAH Y T TAFLIF HdT PR F H T §1 TR F /Y
sTagie 1 44T FA @ g, IS T Sl gaar gereh §, S odws F1 A 3R Fi9 B @ sAs ser MS Word
2010 # 37T YA 3 WA $T HY [ F TFA 8 ?

A. Document Inspector HBRR I SEdHTT B. Protect Document HITR &I SEJIATT Hih
Fh

C. STFgHT &I TAHAYTET Hleh D. Check Accessibility BreR @I SEHTT Flh

Correct Ans: A

Q48. You want to highlight numbers between 11 and 30 in a range of cells in yellow color.
Which of the following commands in MS Excel 2010 helps you to visually highlight important
values in your worksheets?

A. Conditional Formatting command B. Sort command
C. Filter command D. Format command

Correct Ans: A

Q48. 3T Ve & T 1T & 11 3K 30 F fig F 7Rt F N T # grEese AT 918 &1 MS Excel 2010 &
fArafaf@a slawd a3 sraht g F Agcayet doga Ft dEa F AT FEAEE F H I3 A FEA?

A. Conditional Formatting &3 B. Sort HAE

C. Filter #1S D. Format &#s

Correct Ans: A

Q49. You have a long text in a cell and you want the text to appear in multiple lines. How can
you achieve this in MS Excel 2010?

A. Select the text, click View -> Page B. Select the text, click Page Layout -> Breaks
Break Preview

C. Select the text, click Home, in the D. None of the above
Alignment group, choose Wrap Text

Correct Ans: C



Q49. ITIF U T Ao A o1 eFee ¢ 3R 37 =ga & F a8 e +§ aEal & REE &1 319 MS Excel 2010 # Ig
FyFTEAFIE ?

A. TFEE FI Jolae FIfGA, View -> Page B. ¢FEC FI Holge HIfold, Page Layout -> Breaks W Fae fifaw
Break Preview R & Hiferw

C. TFFC &I Yoige Hfod, Alignment @ H D, 394ad 7 & $1$ 71
Home W e AT, Wrap Text &I Telde
ST

Correct Ans: C

Q50. How will you paint the inside of a row in an MS Excel worksheet with a specified color?
A. By using the Fill Color command B. By using the Borders command
C. By using the Font Color command D. By using the Alignment commands

Correct Ans: A

Q50. 3T MS Excel a&aflc & t& FaAR F 3T Th @ T FF sa?

A. Fill Color &3 STIHATT FH B. Borders &3 STAHATT lh
C. Font Color &HS STAHATT I D. Alignment SIS STAHATT FH

Correct Ans: A

Q51. You want to change the font face/theme of the text in an Excel 2010 worksheet cell.
Which of the following command would you use?

A. Font command on the Home tab B. Font size command on the Home tab
C. Font color command on the Home tab D. Alignment commands

Correct Ans: A

Q51. 31T Excel 2010 g&fic A v A & TFee AT Biee FH/ fH F aeaaT agd &1 319 Arafaf@d siad Fa1s
FEAATH FLI?

A. Home & WX Font &S B. Home ¢ W Font size &S

C. Home & W Font color A3 D. Alignment &A1

Correct Ans: A

Q52. Which of the following views help you to view your presentation with speaker notes on
your laptop while your audience views the presentation without the notes on a projector?

A. Presenter View B. Slider Sorter View
C. Reading View D. Outline View

Correct Ans: A

Q52. el i A1 o 39S duely W FiTR AlCH & WY ! AU FI @A # I AGE AT §, AdH
38T gRTeT AT9F giHITT T MotFe T I YeieersT F AeH F e @ §?

A. Presenter =g B. Slider Sorter =g
C. Reading =g D. Outline =g

Correct Ans: A



Q53. In PowerPoint presentations, F7 key is used to/for:
A. Grammar check B. Start slide show view
C. Spelling check D. None of the above

Correct Ans: C

Q53. gIatcarEe Yo &, F7 9 fFafav sedaATe fvam Srar 8:

A. ITER &I S B. Tllg3 oM oY YT AT
C. ®feier & st D. 394 & & FI$ A&

Correct Ans: C

Q54. One of the largest fulfillment centers operated by Amazon in India is located in which
city?

A. Chandigarh B. Sonipat
C. Gurugram D. Bengaluru

Correct Ans: B

Q54. #RA # AT IR HANAT TF FIW T3 PaAfheaic g 1ha el # ua g2
A. ST B. @eIdeT
C. JoarH D. sre®

Correct Ans: B

Q55. The National Institute of Solar Energy is located in which city?
A. Jaipur B. Coimbatore
C. Gurugram D. Dehradun

Correct Ans: C

Q55. T TR F9T U fFq ae? & Bya 2

A. SR B. A
C. e D. gglgat

Correct Ans: C

Q56. Which Indian wrestler won a bronze medal in the 2016 Rio Olympic women's freestyle
wrestling?

A. Kavita Chahal B. Sakshi Malik
C. Babita Kumari D. Vinesh Phogat

Correct Ans: B

Q56. ¥ e Freclarer & 2016 R stafFas aAfgar Preme Fect & Fied gew Sfar ar?
A. &faar ggd B. @ely #Aferlsh
C. Sfear $aAly D. fa=rer wiame

Correct Ans: B



Q57. Who is the present Governor of Haryana?
A. Shri. Kaptan Singh Solanki B. Shri. Jagannath Pahadia
C. Shri. Om Prakash Verma D. Manohar Lal Khattar

Correct Ans: A

Q57. I U5 F TIA TsIITS Hi 82
A. &t FeareT &g aredr B. &Y SR ugIf3ar
C. A 30 wepTer g D. #AE o WX

Correct Ans: A

Q58. How many other State boundaries does the State of Haryana border with?
A. 6 B. 7

C.5 D. 4

Correct Ans: C

Q58. gRIT T A MAW Faar 37 Tt F Hamt F Fad §2

A. 6 B.7

C.5 D. 4

Correct Ans: C

Q59. What is the full form of STPI?
A. Southern Technology Park of India B. State's Technology Park of India
C. Software Technology Parks of India D. Software Technology Plants of India

Correct Ans: C
Q59. STPI &I [ &7 4T §?
A. Southern Technology Park of India B. State's Technology Park of India

C. Software Technology Parks of India D. Software Technology Plants of India

Correct Ans: C

Q60. What is the expansion of CII - a premier industry association in India?
A. Conglomeration of Indian Industries B. Conference of Indian Industries
C. Confederation of Indian Industry D. Classification of Indian Industry

Correct Ans: C

Q60. 3RT & WNfAIR it forF vaffreerr CII &1 qu a9 am 82
A. Conglomeration of Indian Industries B. Conference of Indian Industries
C. Confederation of Indian Industry D. Classification of Indian Industry

Correct Ans: C

Q61. Where is the Headquarters of the National Power Training Institute (NPTI)?
A. New Delhi B. Faridabad

C. Chandigarh D. Gurgaon (Gurugram)



Correct Ans: B

Q61. IO fagga wirator WUt (NPTI) T HEATT Fal 62
A. 73 oot B. ™igETE
C. I99Te D. I[aTa (I&TH)

Correct Ans: B

Q62. What does LAN stand for in networking?
A. Local Area Network B. Last Area Network
C. Long Area Network D. Line area Network

Correct Ans: A
Q62. AcafdHar A LAN T FIT Aded &2
A. Local Area Network B. Last Area Network

C. Long Area Network D. Line area Network

Correct Ans: A

Q63. Haryana State is located in which part of India?
A. South-West B. North-West
C. North-East D. South-East

Correct Ans: B

Q63. I TsT 3R F fFw e & Rya €2
A. gigor-gfeas B. 3caR-ufRas
C. 3ecR-qd D. gfaror-qd

Correct Ans: B

Q64. Who is the first Indian woman from Haryana to climb Mt. Everest from both China and
Nepal side, in 2017 and 2013 respectively?

A. Anita Kundu B. Bachendri Pal
C. Prelata Agarwal D. Malwath Purna

Correct Ans: A

Q64. NI & a8 Tgell AR Afgen FiT § W 2017 31X 2013 # Fwaven: =Aer 3R dAurer ¥ 3R ¥ TalFe gdq A
TeTS F1 8?2

A. 3ifdr g B. ST dTel
C. JeldT 3fararel D. Helay quit

Correct Ans: A

Q65. In which Haryana district is the Bhagat Phool Singh Mahila Vishwavidyalaya located?
A. Ambala B. Sonipat
C. Sirsa D. Rohtak

Correct Ans: B



Q65. R F R o 7 st G RiE Aftar Reafagamery fua 32
A. 3iETerm B. dielad
C. frar D. Vgds

Correct Ans: B

Q66. Which District is considered to be the smallest in Haryana state, area-wise?
A. Panchkula B. Fatehabad
C. Jhajjar D. Kurukshetra

Correct Ans: A
Q66. IO =T # 7y S F1 90 F BRI A TG BT AT 14T 82
A.q'w B. BdgEg

C. oo D. T

Correct Ans: A

Q67. The battle between Babur's army and was known as the first Battle of
Panipat.

A. Akbar's Empire B. Lodi Empire

C. Mohd. Ghazni's Empire D. Aurangzeb's Empire

Correct Ans: B

Q67. aE=% Fr =1 3R & oI A3TE Uead FT 9T I§ FeATdT ol
A. 3R FHST B. didr I
C. AIgFHAE, STl AT D. 3o gy

Correct Ans: B

Q68. The tomb of Ibrahim Lodi is located in which city?
A. Panchkula B. Faridabad
C. Panipat D. Rewari

Correct Ans: C
Q68. FIRA A Y AR HiT A 2T F Bua &2

A. Tl B. wiereTg
C. 9reia D. Yarsr

Correct Ans: C

Q69. Which place is known as the birth-place of Sant Surdas?
A. Yamunanagar B. Samalkha in Panipat
C. Sihi in Faridabad D. Ambala

Correct Ans: C

Q69. FIH! T T YETH & F+HATYNT & T # A ATl §2



A. THATIR B. Uiiud & gATSAl
C. wiierEre & BEr D. 3f&rel

Correct Ans: C

Q70. The tractor unit of which Company in Haryana was closed down by the Government?
A. HMT B. Bajaj Auto
C. Mahindra and Mahindra D. Eicher Motors

Correct Ans: A
Q70. RN F fFe F9elt & e FREW F SR G@RT d¢ F A 714w ar?
A. HMT B. Solret 3ifer

C. Afg=ar Ug Afgear D. 38R AT

Correct Ans: A

Q71. The Haryana Govt. is planning to upgrade Shri Krishna Government Ayurvedic College to
the status of an Ayush University. Where is it presently located?

A. Kurukshetra B. Gurugram
C. Panchkula D. Sonipat

Correct Ans: A

Q71. RATOT TFR 4t Feor FIFN IYIRF FIAS FT 3ewidel Fh 38 TF HYY reafgareryr 1 Faar verar F= H
AT T TET

TIAT H g Fidr Fel U 82
A. f&m B. I%amH
C. gagel D. @=ad

Correct Ans: A

Q72. The Late Dr. Kalpana Chawla, an Indian-American scientist and NASA astronaut, was
born in which city of Haryana?

A. Yamunanagar B. Palwal
C. Karnal D. Chandigarh

Correct Ans: C

Q72. Faelta =i, Feue Grae, HRAT-330R d=nfas 3R NASA & siaRer-anh #1 S= gRamon & fFa a7 gan
ar?

A.?Tﬂ?ﬂﬂ?lT B. eldel

C. FLEIT D. 92NTg

Correct Ans: C

Q73. 4 of the 5 boxers who represented India at the 2008 Summer Olympics were from this
District in Haryana. Name the District.

A. Hisar B. Bhiwani
C. Panchkula D. Panipat



Correct Ans: B

Q73. 2008 ¥F Frsawreller HafFas & sRa F wfafafteg w3 are 5 F & 4 FFFarer gRaon F T ¥ 91 39 o
T 1T TdASd|

A. fRar B. famh

C.Ei?-I;WT D. 9&iaa

Correct Ans: B

Q74. The Delhi to Gurugram Expressway is part of which National Highway?
A. NH-8 B. NH-47
C. NH-70 D. NH-80

Correct Ans: A

Q74. el & T TFANH- B Usd FgTATt # R 82
A. NH-8 B. NH-47
C. NH-70 D. NH-80

Correct Ans: A

Q75. Who is/are said to have built the Jayanti Devi temple in Jind?
A. Ashoka B. Samudragupta
C. Kanishka D. Pandavas

Correct Ans: D

Q75. Fadfaat & qar, Sfig & s &t #few 1 fasAvor frea v/ vamar ar?

A. 32N B. FHgIed
C. Hfash D. gisat

Correct Ans: D

Q76. Which Muslim ruler founded the city of Hisar in 1354 AD?
A. Firozshah Tughlaqg B. Ibrahim Lodi
C. Jahangir D. Babur

Correct Ans: A

Q76. & 1354 ¥ fFq qaAT AT A AR AeT Y TU19ar Hir 62
A. RrISTeg qaterd B. SsigA e
C. SR D. §T&R

Correct Ans: A

Q77. Gurgaon (Gurugram) is the headquarters of one of India’s leading Online travel portal
companies. Name the Company.

A. Travel Guru B. Trip Advisor
C. MakeMyTrip D. Cleartrip



Correct Ans: C

Q77. T3 (FAT) H AR Y U TI@ JHioTeligel eaer NEa Fuferal # § v F1 q&a1 o7 oua ¥ 3@ Fedt 1 a7
A

A. ¢ao I8 B. fog usaseR

C. AsASReT D. FeirRfea

Correct Ans: C

Q78. The film 'Dangal’ featured Aamir Khan, who played the role of ?
A. Jai Singh Phogat B. Virendra Singh
C. Mahavir Singh Phogat D. Pramod Kadam

Correct Ans: C

Q78. '’ fhen A AR @ A &1 feR fsmar ar?
A. ST &g BRI B. d=% f&g
C. #igraR &g weme D. HIG HEH

Correct Ans: C

Q79. What is the full-form of IBM - the multi-national technology Company?
A. Indian Business Management B. International Business Machines
C. International Business Magnates D. Indian Business Marketing

Correct Ans: B
Q79. g e AAY Fel - IBM T T AT FT §2
A. Indian Business Management B. International Business Machines

C. International Business Magnates D. Indian Business Marketing

Correct Ans: B

Q80. What is the full-form of HTTP?

vy}

A. HyperTest Transport Protocol . HyperTent Transfer Protocol
C. HyperText Transfer Protocol D. HyperText Transmission Protocol

Correct Ans: C

Q80. HTTP T qof &9 #4782

oy

A. HyperTest Transport Protocol . HyperTent Transfer Protocol

O

C. HyperText Transfer Protocol . HyperText Transmission Protocol

Correct Ans: C

Q81. The Unique Identification Authority of India (UIDAI) that manages Aadhaar Card, has its
data center in which city in Haryana?

A. Gurgaoan (Gurugram) B. Faridabad
C. New Delhi D. Manesar

Correct Ans: D



Q81. ITUR FT FT YT FI aTel Teila AMSSATBFeT AFrNRE 3HTE $f3ar (VIDAT) 7 s1eT e ghamon & fre
g F a7

A. TSN (TRATH) B. WIgEIG
C. =15 Realr D. AR

Correct Ans: D

Q82. The Government of Haryana officially notified on 16" November 2016 as its 22"
District?

A. Rohtak B. panchkula
C. Charkhi Dadri D. Gurugram

Correct Ans: C

Q82. 16 FGE 2016 FI AN TFR o AFRF dR R Fw ek w1 3rqew 22 § Srar sfvgRa e ar?
A. Jgasw B. Gl

C. T aredr D. I

Correct Ans: C

Q83. Name the award given for excellence in Urdu Literature in Haryana?
A. The Munshi Gumani Lal Award B. Sabir Dutt Award
C. Kanwar Mohinder Singh Bedi Award D. Virender Sehwag Award

Correct Ans: A

Q83. gRATN # 3§ Wifted # IeFvedr ¥ BT I aTek [WEHR FT A aTe]
A. F3f AT STl REHR B. §R &ed TEFR

C. & Afees e I [EPR D. 9o QT JTEhR

Correct Ans: A

Q84. Where would you find Badkhal Lake in Haryana?
A. Near Manesar B. Near Faridabad
C. Near Rohtak D. Near Surajkund

Correct Ans: B

Q84. gRIo # g5Fer S Fel &2

A. AT & 9 B. WIgIETg & 918
C. Vgds & g D. qIoiFs &

Correct Ans: B

Q85. What is Chandimandir Cantonment in Panchkula City famous for?

A. Headquarters of Indian Army’s B. Headquarters of Indian Army’s Western Command
Northern Command

C. Headquarters of Indian Airforce’s D. Headquarters of Indian Airforce’s Northern Command
Western Command



Correct Ans: B
Q85. FIFT AT H T2 AR Baeh F1 A Frafaw afdg 82
A. SR AT BT Y et HATS H AEAAT B, HRAT Al Tl T dEeT HATS HT HEATTT

C. #RCAT arg T Y AT HATS T AEIATT D, HRAT arg Vel Y sfce] HATS T HEATer

Correct Ans: B

Q86. Morni Hills is located in which District in Haryana?
A. Panchkula B. Sirsa
C. Ambala D. Karnal

Correct Ans: A
Q86. R & fFa forer & AR ggiEar fua &2
A. dEgell B. @@

C. 3i€rer D. FAT

Correct Ans: A

Q87. How many Districts were there, when Haryana State was first formed?
A.5 B. 6
C.7 D. 8

Correct Ans: C
Q87. 519 §RATUN T T Tgell TR &+ 3T AT T« 3HA fheat Forer 42
A.5 B. 6

C.7 D. 8

Correct Ans: C

Q88. Who is the newly elected Chief Minister of Uttarakhand?
A. Harish Rawat B. Ritu Khanduri Bhushan
C. Saurabh Bahuguna D. Trivendra Singh Rawat

Correct Ans: D

Q88. 3 IEs F Aafaiad qed AfF Hier §2

A. glrer Iad B. I @l agwor
C.zﬂﬁmagguw D. Pa=g &g Taa

Correct Ans: D

Q89. Instructions: Read the sentence and identify the correct word that best suits the
underlined word.

The villagers considered their headman as the arbiter of truth and justice.

A. judge B. owner

C. initiator D. legislator



Correct Ans: A

Q90. Instructions: Read the sentence and identify the correct word that best suits the
underlined word.

The old man was elated when he received the tickets to London.
A. excited B. gloomy
C. content D. depressed

Correct Ans: A

Q91. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

He usually late to office.
A. left B. will leave
C. has left D. leaves

Correct Ans: D

Q92. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

Mona is than her sisters.
A. smartest B. more smarter
C. most smarter D. smarter

Correct Ans: D
Q93. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Divya got cold feet the day before her wedding.
A. surprised B. Happy
C. excited D. scared

Correct Ans: D

Q94. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Vanitha spilled the cake mix from the bowl and therefore had to start from scratch.
A. Clean the area B. Start from beginning
C. Scratch the bowl D. Clean the bowl

Correct Ans: B

Q95. fder — Faif® Iuge eree/ Asal HT AT FIA §C AT T H-

WA & TFH-UF 1§ F Fo0d1 919 o BHE-SAae 7 § qreFwar H mmﬁqgwmﬁm%l
A. IR B. TH

c. 3fa D. g%



Correct Ans: B

Q96. fA&er ~HaiftIs UG ereq/ Aeal HT THT FI §T AT T H-

TSI T F AT TFC F T G 3 Tahe F 3rqeng sit §, 317 weed &, qosrr & 3w aeft fn o
o #E
A. gt B. diar

C. greld D. =X

Correct Ans: C

Q97. forder- Y@ifa qgray F1 7Y gt

TEETH F HarH X R T F1 hwen F4t frar g7 a1 A% worsr # R 78 31 @Y, T I BT A7 J@AT €
q3I-

A. 8T 37T B. FRISR # FE T gl
C. 37dTeTeh FHHTET 3T STAT D. ERe ol Blell

Correct Ans: C

Q98. fader- Y@ifda Feray 1 e vga

Arercht Al A &Y NI & R F vF-UF FETT F IHFATHA & @1, Afdar 3a7F o I F 97 Q@ IRAR AT Re &
T |

A. §&TE glar B. HY & Uleg

C. Tarthi=T glar D. fowx s

Correct Ans: D

Q99. A& - 4 Aol F ¥ T v g FT T AT s FATE —

&
A. 3R B. &I
C. [ D. 93

Correct Ans: A

Q100. A& - 4 RFeul # ¥ R v 2reg F1 wITTATT 2rsg FdqC -

iy
A. gtameg B. gafag
C. IqAT D. 7

Correct Ans: D



